Приложение №1
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IInomazns mpsiMoyroabHuKa ABCD, n300paskeHHOT0 Ha PUCYHKE,

paBHa @, Touka M — cepenmHa cropousl DC. Haliaure miomazns Tpe-
yroibauKa ABE.

Pemenue.
1) AADM = A ECM mo

bl ad e o0 (R M B L S T TIRDCERPI0
4 D= = °, LAMD =
KaK 9TH YIJIBI
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), mostomy S, . =
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+ = e
OrBerT. S =




Приложение №2

Для учеников:

[image: image2.png]panjesorpaMma ABCD, pasuble 6 cM 1
10 cm, o6pasyT yroa B 30°. Haiigure
[LJIOIaAb TPeyroJbHUKA ABC.

Pemenue.
1) IIycts AB = 6 cm, AD = 10 cm, £ A = 30°. Tak KaK AUAroHaJIb
mapajTesorpaMma fieJiuT ero Ha 7ABa
to AABC = A
By AD - BE, rge BE —
Ocraerca maiitu BE. A ABE — OpPAMOYTOJIBHBINA 1 / A = 380°, moaro-

’

, ¥ HOTOMY S, 50 = ——— = B aich

napannenorpamma.

My KaTeT , JIeMaIun , paBeH
1
,T.e.BE=-2-____= cM,
1
- ; e 2 kg = 2
S,pcp=10cm - ___cM ity " Y e S cm?2.
BRdigem, S,...= cm?.

ABC A

2 PaGouas TeTpaab No reoMeTpHH 8 k.

17




Приложение №3

Фото:
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1 2
Ha pucyuake CN = -Z-AC, CM = EBC’
8o ™ 18 o™
Haiigure S, ..

Pemenune.

ITo Teopeme 06 OTHOIIEHUM IIJIOITAAEH A

TPEeYyroJbHUKOB, UMEKIINUX II0 PaBHOMY

YIAYs S,ype t Syye = . ;
Tax Kak mo ycaosuio CM =—3—BC, CN = EAC 7 8 5.~ 18 en, %
S 50= 18 cm?, % =18 cm?:-___ = cm?.
~BC-~AC
o

wisk 2
OrsBer. SABC— cm?.





Приложение №4

Оформление доски:
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B paBHoGenpernHoit tpamenuu ABCD,
n300pasKeHHOoM Ha pucyHke, BH — BbI-
cota, . B = 135°, AH = 2,8 ¢m, HD =
=6,8 cm.

Haiigure miomanes Tpanemun.

Pemenue.

IIposegem CP L AD.
1) Tax xak Tpanemuss ABCD — pasHOGeaperHasd, To DP = =

= cM, moatomy HP = HD — =6,8 cm — cM = cM;
AD = AH + = cM + cM = cM.
2) Yerwipexyroasauk HBCP — npsMOyroibHUK, moatromy BC =

=_0L = cM.
3) £ HBC = 90°, a Tak kax £ ABC = 135°, ro L ABH = L ABC —
= . A ABH — npsmoyronsuslit (L H =90°, L B=45%n
, mosromy BH = = cM.
cM ° cM = cm?,

4) 8

ABCD

OTrBer. cm2,

20





Рисунок 1

Рисунок 2

Приложение №5

\Задача 1
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Ha pucyuke guaronasu pomb6a ABCD B g 6
nepecexamooTca B Touke O, AB = 13 cm, 4
BD =10 cm. Hatigure ACu S, . -

Pemenue.

1) Tax xax guarosaay pomba B3auMHO A
HepHeHAUKYJAsIpPHBE, TO BD 1 w ¢
A ABO — , IIpUYeM THUIOTEHYy3a =13 cm
II0 yCJIOBHIO, a KaTeT BO = é = % cM = cm. ITo Teope-
me Iludparopa maxomzmm: AO =J = :\/ = cM = cM,
AC =2 =2 cM = cM.

1
2) Ilnomans pom6a MOKHO BHIYUCAUTD 1O popmyne S, . = EAC + B
1

% cM * cM = cM2.

(samaua 476 yuebuuka), oTkyna S,,., =

cm?,

OTrBer.





Задача 2

[image: image6.png]s yuurens:
1)Cansre noxanyiicra Sit down please.
2) 3apaserByiite nesoukn u mansunku. Hello bOKS and gil‘lS.
3)Cerous Ha ypoke Mbl H3y4aeM TeMy Pemenue 3anau no Teme: Inomans 7 odaz at the lesson we stud |4

the theme “Solving problems” on the theme “The area’.

#)Uens ypoxa The aim of the lesson 3anaun ypoxa The tasks of the lesson

Inan ypoxa The Plan of the lesson

5)Ceiiuac mbi paGotaem no matemarnueckum tepmunam NOw we work on__mathematical terms

6) Otkpoiite Bamu paGodue TeTpaau Ha cTpanHule 16 OQen your acttvzgz - books at page sixteen

7) What is the date today? Ceronus 15 nexa6ps 2004 rona. Today _is the fifteenth of
December

8) TMuwem Tect Ha 3uanus bopmyn We write a_test on your knowledge of the formulas.
Bui6epere hopmyny Choose a formula, please.

9) [lasaiite naunem nauty pa6ory OK, let’ s start our work

10) Ksagpat Square IIpsMoyronsHuK Rectangle Tpeyronsauk 1 | riangle
11) Iapannenorpamm Parallelogram Pom6 Rhombus Tpaneuus T rage;ium
12)Masaiite 3akonunm namy pabory Ok, let’s finish our work
13)O6Mmensiitecs MexIy coboit TeTpaasiMu Exchange your activig z—books
14)[posepsiem npasunshsie otsetel OK, let’s check the correct_answers
15)osenem uror Let's sum up
16) 8 BEpHBIX OTBETOB — OLIEHKA 5 8 right answers —a_five
7 BEPHBIX OTBETOB — OlIEHKA 4 7 right answers — a four
6 BepHBIX OTBETA — OLIEHKA 3 6 right answers - _a three
17)KTo mosyuus ouenky 5, 4, 3 Who has got a_five, a four, a three
18) Pa6ota B rpynnax (pa6ota B mapax) _Work in groups (in Qairsz
19) Kro pemnn sanauy? Who has solved the problem?
Kakoit otset B 3anaue? What is the answer of the problem?
(Makcum) uau pewarts 3anauy k nocke Maxim come to the blackboard and solve the problem.
20) Cnacubo, ouenxa 5, 4, 3. Thank you, your mark is five, four, three.
21) OrxpoiiTe THEBHUKHA U 3alUIIATE JOMAIIHEE 3aaHNE OQen your record-books and write down
your home task.
22)Otkpoiite TeTpaay 1 ocMoTpHTe foMamsee 3ananne Open your activity-books please, look at
the home task Ecnu sonpoce? Are there any questions?
23) Ceromns ... Ha ypoke paGoranu xopomo Joday ... worked at the lesson well
24) B xoHue ypoka Myl nuuieM nposepounyto paGory At the end of the lesson we are writing a

short test.

25) Cmotpure Homepa Ha nocke 1 he _numbers are on the blackboard,

26) 3akonuute pabory, caaiite retpanu. Ok, let’s finish your work and give me your activity -
books .

27) Cnacu6o 3a ypox Thank you for the lesson, goodbye.

28) [Mosropenue Teopun 1 | heogy revision Pemenue 3anau Solving Qroblems

29) 3axpeits nuesunku  (tetpamn) Close your record-books (activity — books), please

30) Hcnpasuts oumbku  Correct the mistakes, please.

31) Cnymaiite mens! Listen to me, please Tiomorn vue Help me, please.




Задача 3

[image: image7.png]Geometrical Figures: Symbols:

a square ' + plus (addition); add
- minus (subtraction); subtract
a quadrilateral [/' K WDC/ I I/ X i’f" a/ ] * Il}u}tiply ...by..' H multiplied by
' + divide ... by; divided by
arectangle [ re k L2 ng / ] =¢ is eqlial toal t
. , , is not equal to
atriangle [ { /“3_72\79/ ] o degree
| J square root

a right — angled triangle L angle

' L is perpendicular to
a parallelogram [/ Px ro'le /5’ yf xm] || is parallel to

athombus [ 'rom bas ]
a trapezium [ZL/"c?/'OL' ‘z/eom _7

Solving problems : Solution
(to solve problems) Since
Data: Therefore
Find/Prove According to the given problem
Solution/Proof ' In the same way
The answer is But
‘ Then
Thus
Theory. Revision.
area a diagonal
to find the area of The diagonals intersect in point O
area of quadrilateral The diagonals intersect at the right angle
square centimeters a hypotenuse
an angle a cathetus
a right angle a fraction
vertical angles the height
Angle A is equal to 30° the length
a bisector K 3 : the theorem of Piphagor
bisector oftgeéaﬁélgek{ ] area eOTiVl S&)hg o
To divided in half Sosceles [arsosirle:2 ]
a side B Mmathematical tepmg
Opposite sides
Adjacent sides [ /218N t ]
Median (‘ML dI 3n] For example:
AB is equal to CD
CM is a half of AB
M is a middle of the side CD

3%:9 3 squared is9



 

Приложение №6

Задача 4
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Задача 5
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Задача 6 

                                         Data: ABCD is a quadrilateral, AB=9cm,

BC=12cm, CD=25cm, AD=20cm, AC=15cm.

                                         Find the area of the quadrilateral.

Приложение №7

Решение задачи №6
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